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ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
({ Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
©oT 2repiRd Teq i

(a) Define fertility rate.
THqel 277 igw fra |

(b) What is microfinance?
Hue 7 2
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(2)

(c) Mention one impact of land-tenure
system.

PR-%Y IRTR 9O AR TrEy 91 |

(d) Point out one common deficiency
involving in governance.

E IRES 4 e @B R @ Sy
91

(e) What is rural-urban migration?
-3 2o 3o 6 ge 2

() Point out one social challenge arising
from globalisation in India.

SHTT R e Tea 2@ @B iR
AT SeaEre 41 |

(9) In which year was the Rio Summit held?
R’ e @@ e P Cafee 2

(h) Define individual behaviour in social
environment,

Wﬂﬁm@m%wwmwﬁm
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(3)

(i) Mention one contribution of agriculture
to the process of economic development.

wetafes Tagw afdmre PRe @b SRz Ty
Lol

() Write one cause of gender inequality in

a family.
51~ fowqe fors Caaa @bt FrR foran |
2. Answer the following questions : 2x5=10
o 2T Tl fia

(a) Define globalisation.
fRerrera st
(p) What is the relationship between the

age structure of a population and its
dependency ratio?

FPRAE R AR e FEaEeTe S
TS 4P TR 7

(/) What are the types of environmental
externalities?

ofAreIoTe ABFOR AFRER & &2

1 A23/680 ( Turn Qver )



(4)

(d) Why is sustainability of renewable
resources important?

SRR ol IS 5 TGyl 2

(e) What is landlord-tenant relationship?

TR-IfS W qrre Tofecht 2

3. Answer any four from the following
questions : 5x4=20

T 2rprEd R e SR Tee i

(a) Explain the role of agriculture in
economic development.

wAfee TrTe IR g mam

(b) Write a note on credit market in
agrarian society.

WWWW@W@%MW:

(c) Explain the distinction  between
community governance and corporate
governance.

mwwﬁwwmmﬁwm
41 |
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(5)

(d) Briefly discuss the major eras of
globalisation in the last 150 years.

QW Seo IFe RARR 29 IR Sq
SICEAILAT 394 |

(¢) Explain the factors which influence
individual behaviour in an organisation.

RIS S 63T 2SS 1 FrETE 361
kol

(/ What is fertility gap’? Explain the
fertility gap in terms of Leibenstein
theory of population.

@ #1757 ERETEE PR gl
GRS TS F169 4RAET 36T 741 |

4. Answer the following questions : 10x4=40
TR 2pTyEd e fi

(a) Discuss the functioning of labour
market in agrarian society. 10

RGN TS W G IS A
41|

Or / g1
Explain the demographic transition
during the process of development. 10

Tmm AR TR SR FeEdd
R eS|
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(b)

(c)

A23/680

(6)

Examine Hirschman’s exit, voice,
loyality theory as a response to
organisational inefficiency. 10
fBRSTE o4FW, W[ T SIS OGO
Ao Srwerd aAfSfEn R [ 34 |

or / g

Discuss the impact of globalisation on
developing countries in terms of
international finance. 10

TwEfee [ed wRare Tawe orre PR
SR ST FT |

What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10

A PIE QAMTE ? T GBI TP 3'ILH Foll
T SRR AT F4q1 |

Or / 7g7

Critically discuss the various land
reform measures adopted in many
developing countries. 10

e Samein o 4R ez e 3 sieam
TREPTIZ FACASA 2PN WA 341 |
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(7)

(d) In what way common Property resource
theory provides a useful framework
for analysing environmental issues?
Explain. 10

MR ToHfE  Foow  BEHIE  eifiaere
TPIRA Reme e fog 961 omsan
I AW PR, I9T F90 |
Or / g
Write short notes on : 5+5=10
5 (Bt fora
(i) Nutrition and labour productivity

2 5% 293 TeovrETe!

(i) Economic activity and climate
change

AT IR F TRy A

* kK
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